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Sub questions

Question Number : 1 Question Id : 6863401820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 6863401821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863401822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863401823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863401824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6863407217. 1
6863407218. 2
6863407219. 3
6863407220. 4

Question Id : 6863401819 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863401820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 6863401821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863401822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863401823 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863401824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 68634056
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863401825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 6863401825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863401826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHERITHTE THY & JareRUl 6-

A RTelYd
B. W4

C. GRI&IHaH
D. W3Ue
E. ufdud

i feu U f[d@edl § U Uel IR & 999 BioT:
1. Haa B.D. E
2. PaU A, C.D
3.$ddB.C.E
4.%auD.E. A

Options :

6863407225. 1
6863407226. 2
6863407227. 3
6863407228. 4

Question Number : 7 Question Id : 6863401826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863401827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863401827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 6863401828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6863407234. 2
6863407235. 3
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Question Number : 9 Question Id : 6863401828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863401829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863401829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6863407240. 4

Question Number : 11 Question Id : 6863401830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863401830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863401831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863401831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863401832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407249. 1
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Question Number : 13 Question Id : 6863401832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863401833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863401833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863401834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863401834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863401835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863401835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863401836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863401836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863401837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863401837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeHTH e F1d Bifor:

0.3,8.15,.24, 7

[
[F%]
%]

Options :

68634072609.
6863407270.
6863407271.
6863407272.

AW N —

Question Number : 19 Question Id : 6863401838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1T 8 91 g5 41 41 98 f6d fezn & g die

1.
ufim

3. 9
4. Sfeor

Options :

6863407273. 1
6863407274.2
6863407275. 3
6863407276. 4

[ ]

Question Number : 19 Question Id : 6863401838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I B Tl a9 76 IR 14X P AEA . 76 98 A0 Wpd Ugadl ¢ | T8 99 I & R @A EH &
1< <1 §R 20 Aod & R 9% 91 T d Tg<-  Ted a1 gedl 2| 99 o 931 & WR P - a1 &9
1Y ¥ a1 g% Ui 1 a8 g fomn & 9 o

1.d
2. gfgyq

3.3t

4, GI&T

Options :

6863407273. 1
6863407274. 2
6863407275. 3
6863407276. 4

Question Number : 20 Question Id : 6863401839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe T Tl 8- T B AT A 111 1 UHHE T 1 T I BT S 3 11 ey 82
1. foar

WTg

 Hed bl

[ ]

L]

4 i
Options :
6863407277. 1
6863407278. 2

6863407279. 3
6863407280. 4

Question Number : 20 Question Id : 6863401839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A Y9 Hgdl 8- AT B OTa1 I 1d1 1 THTE T 31 T 397 &1 A d 3 o1 ey 82
1. foar
TS
HeRAq sipd

| )

[#%]

4 i
Options :
6863407277. 1
6863407278. 2

6863407279. 3
6863407280. 4

Question Number : 21 Question Id : 6863401840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIgTe 719 A0S & SR R g8 9 gl
1. SUTSd AT
2. furge srgaifyare
3. Yferg srgHiiYgiREe
4. foygd WiaAs S

Options :




6863407281. 1
6863407282. 2
6863407283. 3
6863407284. 4

Question Number : 21 Question Id : 6863401840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HigTel T AEET & SR Ramd g5 19 Gl
. SUTR TSI
frursa sreaifmre
fer srgHimiiEe
fhuEa WRisEEs

Options :

6863407281. 1
6863407282. 2
6863407283. 3
6863407284. 4

—

| B

(%]

FEs

Question Number : 22 Question Id : 6863401841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

W=l 1 (G o oI & =0 eIt I (UETe)

A [GH I [=m

B. [WalY (FH-UId) 1L |3y

C. [HYHMGI I1I. [dsh

D [Fg IV. [T &
fafafad faedl & 9 98l SR &1 994 S

1. A-II. B-IV. C-III. D-I

|

CA-TV, B-II, C-III. D-I
3. A-IL. B-IV, C-1, D-III
4. A-1. B-II. C-III, D-IV

Options :

6863407285. 1
6863407286. 2
6863407287. 3
6863407288. 4



Question Number : 22 Question Id : 6863401841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

= 1 (F5 & wiias & =@x0n)  gal 11 (W)

A [HH I [T

B. [UalY @H-UITWD) 1L [ary

C. [AyHM™Ga 11 [dsh

D. [5d IV. [&1T% &
frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-IV. C-III. D-I

| o

CA-TV, B-IL C-IIIL D-I
3. A-ILL B-IV. C-1. D-III
4. A-1. B-11. C-II., D-IV

Options :

6863407285. 1

6863407286. 2

6863407287. 3
6863407288. 4

Question Number : 23 Question Id : 6863401842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad & ¥ oF YR e TR (315, 30.0) 31 9uH Tl e 91 87
1. 4l BHiBR
TR
R R A
 HUig Hayd

| )

[FN]

=Y

Options :

6863407289. 1
6863407290. 2
6863407291. 3
6863407292. 4

Question Number : 23 Question Id : 6863401842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad o 9 o yRdg i ThikuRE (31%.51.9) B uyd ufge s 9+ 82
1. €0 SR

IR PE

R A A

B AR

[ ]

L]

=

Options :

6863407289. 1
6863407290. 2
6863407291. 3
6863407292. 4

Question Number : 24 Question Id : 6863401843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEARAICAGUES

BY I TR Pifcl TP AT 5. [T 1968 & TR g5 NYUGHD iG BT auH B P (o AHIG:
TRIeRd [ dT ST & |

BYT I1: T §B1gX Il 1 BRd Pifd SRey &1 o)

SWRIdd HYF & i J, 1< 3T MU fawedi & I Fel 3ok &1 99 Difee:
1. BYFI R I GHI T §

HY 1 IR 11 ST ST §

PYT I I 8. Alh YT I T &

| )

Lag

DY YW B, AfhI BY 1 Tl ©

=

Options :

6863407293. 1
6863407294. 2
6863407295. 3
6863407296. 4

Question Number : 24 Question Id : 6863401843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEARAICAGUES

BY I TR Pifcl TP AT 5. [T 1968 & TR g5 NYUGHD iG BT auH B P (o AHIG:
TRIeRd [ dT ST & |

DY I1: T 951G Vel 4 TR pifd 3R P of|

SWRIFd BYF & 3Tl H, =1 4T T fddbedi & I Hel Gov &1 99 Difoie:
1 FYI ARG T &

HYA 1 3R 11 ST SR §

PYTI g . AP PYT 1 T &

[

L]

4. BYT I 8, AfpT PUTII T &

Options :

6863407293. 1
6863407294. 2
6863407295. 3
6863407296. 4

Question Number : 25 Question Id : 6863401844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁﬁaﬁ%ﬂﬁﬂaﬁﬁﬁmﬁﬁ@ﬁw S5 YL DT S Yefid B i Widd
e PRl 82

 HT®E-51T

—

L]
1

[y
| )
L¥%]

Options :

6863407297. 1
6863407298. 2
6863407299. 3
6863407300. 4

Question Number : 25 Question Id : 6863401844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HHE P19 7 Bl W61 &l dl FHfeiad 7 9 Sl siwe APUid Bl S WeHud B i e

e Bl 87

| ﬂﬂ%ﬂ- 51U

. &ﬂt_%a-lﬁl

: \ﬂﬂ%a-lﬁ
4, C‘Hﬂ%ﬁdiﬁ

Options :

6863407297. 1

6863407298. 2

6863407299. 3
6863407300. 4

—

[

L]

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part B: Commerce

68634038
2

Online
Mandatory
75

75

300

Yes

0

1
68634057
Yes

null

Question Number : 26 Question Id : 6863401845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the correct sequence of competitive market structure as per highest degree of competition among the
tirms :

A. Monopoly market

B. Monopolistic competition market.
C. Perfect competition market.

D. Oligopoly Market.

E. Duopoly Market.

Choose the correct answer from the options given below :

1.B,C.E.D, A

[

C.EDAB
C.BDEA
4. A B, C,D.E

Options :

6863407301. 1
6863407302. 2
6863407303. 3
6863407304. 4

Question Number : 26 Question Id : 6863401845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl (BH) & T 39 TR B Hiogyf & IUR Hieauieis aoiR Iea-1 &1 9el 3FHH 51 87

A THNYPR F9R

B. ToT U@ Rarg! wiawsl aeR
C. goi wieegeff (wfian) seR
D. HNYSHR 6k

E. GUIUPR d6lR

e fau 7Y fawedt # 9 Tel 3R o1 90 Sifie:

1.B,C,E. DA

b2

.C,E.D.A.B
3.C.B.D.E. A
4. A B.C.D.E

Options :

6863407301. 1
6863407302. 2
6863407303. 3
6863407304. 4



Question Number : 27 Question Id : 6863401846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The Giffen goods are exception of law of demand.

Reason R : Under Giffen good. the demand curve shows negative Relationship between price and demand of
goods.

In the light of the above statements, choose the mosr appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

6863407305. 1
6863407306. 2
6863407307. 3
6863407308. 4

Question Number : 27 Question Id : 6863401846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 U AU 70 §, UF SAT@YT (Assertion A) P $U T [IRET § O G2RT SHP BRI (Reason R)& ¥
T

iy A: it axgy, B & a9 1 smare gt €l
SRUTR: T a¥gsit & Siarfa . A1 ae aeqell &1 $iad tg 1l & A ToRES 499 B g2l gl
SWRI DY & AT 1, 1< 34U 7Y [deedi T 9 98 Iugdd ¥ &1 94 Difery

1. A SRR G 90§ SR R, A ! ol U §

2. A SRR GHI A § [P R. A B Tl oA 5l &
3. ATEI R AT R TR T

4. AGE TSl SR T ©

Options :

6863407305. 1
6863407306. 2
6863407307. 3




6863407308. 4

Question Number : 28 Question Id : 6863401847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The ridge line define the production plan in which substitution between two inputs is technically
teasible without atfecting the output :

Statement IT : It can be identify by locating the point on the various isoquant at which MRTS=0.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both statement I and Statement IT incorrect
3. Statement I is correct but Statement IT is incorrect
4, Statement I is incorrect but Statement IT is correct
Options :
6863407309. 1
6863407310. 2

6863407311. 3
6863407312. 4

Question Number : 28 Question Id : 6863401847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

DY Hed (TICh) G 39 IdIe o1 DI IRHIET Bedl & forgd g 3mTal & \ren wfawurg= fefa
P guIfad foou famr a@-te! 30 ¥ ST (9a) BT 6

HYA I1: [afdy sgHieive | a9y MRTS=0 §. U [dg &1 (HiRd (srafiq) $b g3 UgdH ol 9ol 6|
SWRIE HY- & el H, i fau Y fdeedl § 9 968 Suged o &l 999 Hifu:

1. YT AR 1 ST FeT B
B 1 AR I G TTd §
Y1 el B, Afhd HU 11 TAd §
4. BYF 17Ted &, A Y11 98l &

[ ]

Lad

Options :
6863407309. 1
6863407310. 2



6863407311. 3
6863407312. 4

Question Number : 29 Question Id : 6863401848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Repo rate 1s the rate of interest at which Commercial Banks borrow the funds from RBI.

Statement IT : Reverse Repo rate is the rate of interest that commercial banks get when they lend funds to
EBI.

In the light of the above statements, choose the most apprepriate answer from the options given below :

1. Both Statement I and Statement IT are correct

2

. Both Statement I and Statement IT incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

6863407313. 1
6863407314. 2
6863407315. 3
6863407316. 4

Question Number : 29 Question Id : 6863401848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FUA1: VU1 R, 1 1 98 & & ford IR aIforfoues 8, YR Reid 8% 9 o7 YR ot €1

HU 11: FYad Y01 & ol 1 98 X © ol aifiioaes sl gR1 YRa Xold 86 &1 309 o (R ST 9uR
TR 33 J U Bt B

QRIS BYH & H1eiie |, i< f3U U fasedi T I 98 Sugad Ia3 &1 98- Hifolu:
1. Y1 3R 11 EHI 9 §
2. BY1 3R 11 S &
3. Y1 ol 6. A Y 117704 &
4. BYT 1T &, Cifch B 1T Tl &

Options :
6863407313. 1



6863407314. 2
6863407315. 3
6863407316. 4

Question Number : 30 Question Id : 6863401849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Banking, CRR stands for :

1. Credit Reserve Ratio

[

. Caser Return Rate
3. Case Reserve Ratio

4. Credit Reserve Rate

Options :

6863407317. 1
6863407318. 2
6863407319. 3
6863407320. 4

Question Number : 30 Question Id : 6863401849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sifd womeft 7, 9 R SR T fawga vu ®
1. shfge feord IRm
Sy e YR
4. 3pf8e Red e

Options :

6863407317. 1
6863407318. 2
6863407319. 3
6863407320. 4

[

L]

Question Number : 31 Question Id : 6863401850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When prices continue to rise in spite of price control but at less than potential rate. it is called :

1. Moderate Inflation

[ ]

. Hyper Inflation

L]

. Suppressed Inflation

4. Active Inflation

Options :

6863407321. 1
6863407322.2
6863407323. 3
6863407324. 4

Question Number : 31 Question Id : 6863401850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®IHd (EA & araea Hi ofd Sigdl d gkl ot (Ul fdg WyTod e &I 31UsT Y IR, SR Igdl & 9
T8 Bk ©

AT (Hferd) woifd
. Sfaepifd

e @iddfia) wifd
4. Giha Wifd

Options :

6863407321. 1
6863407322.2
6863407323. 3
6863407324. 4

—

[ ]

L]

Question Number : 32 Question Id : 6863401851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Hawthorne Experiment 1. |Frederick Herzberg]
[Need Hierarchy theory 1. [Douglas McGregor

Motivation Hygiene theory] 111 [Elton Mayo
Theory X and Theorv Y IV. |JAbraham Maslow

N REE

Choose the correct answer from the options given below:

1. A-IV, B-I1I. C-1. D-II

| ]

AL B-IV. C-1, D-11
3. A-III, B-IV, C-I1, D-I
4. A-IV, B-1II. C-II. D-1

Options :

6863407325. 1
6863407326. 2
6863407327. 3
6863407328. 4

Question Number : 32 Question Id : 6863401851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 A 11
A [ETeel @Ru) wan | 1 [Feiie guet
B. |sazgmdr HuiH® bS] 1L [S7ad e
C. iR eRed e |11 [ieeT 7!
D [fExdR gy |1Iv |smmEg o

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IV. B-I11. C-1. D-II

| o

AL B-IV. C-1, D-I1
3. A-III. B-IV. C-II. D-I
4. A-IV. B-11I. C-I1, D-I

Options :

6863407325. 1
6863407326. 2
6863407327. 3
6863407328. 4



Question Number : 33 Question Id : 6863401852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following steps required for effective forecasting in a sequence ?

A. Determine the time period of forecast.

B. Identity the objectives for which forecasting 1s done.

C. Collect the data required.

D. Select the right forecasting method in line with objectives and time frame.

E. Implement the results for decision making and periodically evaluates the forecasting and revise, if
required.

Choose the correct answer from the options given below :
1A B, 6 DR
2.B.A.C.D.E
3B,AD,C.E

4 A B.C.ED

Options :

6863407329. 1
6863407330. 2
6863407331. 3
6863407332. 4

Question Number : 33 Question Id : 6863401852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafEd wHidl geuie =Rl &1 Wl &H § @ |

A STHE B guEiafd Feifd s

B. 3 GoRUl B UgdH BT [o¥eh [o1U HIHH far 14 |

C. 3Ofad fmel & GUg ST

D. JeRdl Ud 5T 3l IR el (1) 37H1H faft &1 =g

E. 9fc 3mufé g1 di. Fuia= 8q uRome! & sifgfd &1 $iR srafties $U d3HMH Ud Ixiied &1
e B

i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;

1.AB CIDE

| ]

.B,A,C,D.E
3.BLA.D.C.E
4. A B.C.E.D

Options :
6863407329. 1



6863407330. 2
6863407331. 3
6863407332. 4

Question Number : 34 Question Id : 6863401853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which E-commerce transactions give the benefit of removing middleman in between ?
1. Business to consumer (B2C)
2. Business to Business (B2B)
3. Customer to Business (C2B)
4. Customer to Customer (C2C)
Options :
6863407333. 1
6863407334. 2

6863407335. 3
6863407336. 4

Question Number : 34 Question Id : 6863401853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafiEd I 9 & H-91 5-PH% So0deR did & HIR &1 X B3 dad a1y Had ®edl 87
1. A § IuHiad (& 2 i)

| )

.G ¥ ogad (6l 2 &)
YT Y ogadmy (Hi 2 &)
U5 U ATe (T 2 )

L

=Y

Options :

6863407333. 1
6863407334. 2
6863407335. 3
6863407336. 4

Question Number : 35 Question Id : 6863401854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per the double entry system, the correct sequence of accounting of financial transaction in the books of
OWner 1s :

A, Profit and loss account and balance sheet.
B. Trial balance

C. Ledger

D. Journal Entry

E. Memorandwn book

Choose the correct answer from the options given below :

LA D EC;B

b2

LED CBA
3.D,E.C,B.A
4. E.C.D.B.A

Options :

6863407337. 1
6863407338. 2
6863407339. 3
6863407340. 4

Question Number : 35 Question Id : 6863401854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el wfafP yurel! & SR, Aifid (i) & I (Fe) § [aw1g YoasR] & aaie 1 Jol 350 o

A, TTY Ud g1 @rdT 3R a1 94
B. qaYC

C. @idEe!
D. 9 (G Hiaf)

E. ¥RUIYH J&I® (do1)
- feu T faweal & 9 Tl ST &1 99+ S

LADECB

-2

CE DL COB A
3.D.E.C.B.A
4. E C.D.B.A

Options :

6863407337. 1
6863407338. 2
6863407339. 3
6863407340. 4



Question Number : 36 Question Id : 6863401855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
{(Heads of Transitions) (Ind. AS)
g Presentation of financial 1 lnd-As 19
statements
_ E\'E.Ilt after the Reporting 11 fnd-As 10
periods
C. [Employee Benefits II1. Ind-As 1
A ccounting for
D G_ovennnenr:_c grants and IV Ind-As20
disclosure of Govt.
A ssistance

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-ILL B-11. C-1. D-IV
3. A-IIL B-1. C-IL. D-IV
4. A-Il. B-1. C-I1I. D-IV

Options :

6863407341. 1
6863407342. 2
6863407343. 3
6863407344. 4

Question Number : 36 Question Id : 6863401855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 1
(FEER 31 7 &) (ETAS)
A i?%jf a\}ﬁmw z _ I [lnd-As 19
R dlG _
B IL [Ind-As 10
C. [mHAR! -aH 1T [ind-As 1
BN IaH &g
D. [cgie Ud TR IV. [nd-As-20
ETadl &1 aRaTd el
fafeRad faeedl & 9 981 G &1 99 Hifell :

1. A-I. B-II., C-III. D-IV

| )

AL B-I1L, C-1L D-IV

L

AL B-1, C-I1, D-IV
4. A-I1, B-1, C-I1I. D-IV

Options :

6863407341. 1
6863407342. 2
6863407343. 3
6863407344. 4

Question Number : 37 Question Id : 6863401856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. : . . : 1
X and Y are two partners sharing profits in the Ratio of 2:1. Z Admitted into the firm for — share of profits.

The new profit sharing Ratio between X. Y. and Z will be :

1231

[
L]

2:1
3.5:3:1
4. 4:3:2

Options :

6863407345. 1
6863407346. 2
6863407347. 3
6863407348. 4



Question Number : 37 Question Id : 6863401856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 3R Y &I WRIGR Gl fdb 2:1 & 30rd H A1 W1 R § | Z BH H YRRl § aul DU & A P
ii%wwm%‘l X. Y 3R Z & H1ed (8% & %9 U G {01 S a1ell =41 SUrd 51 -

1281

[ ]
L]
[ ]
—

4. 4:3:2

Options :

6863407345. 1
6863407346. 2
6863407347. 3
6863407348. 4

Question Number : 38 Question Id : 6863401857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ag per the company Act 2013, (Schedule III. part-I) the correct sequence of presentation of financial
information in the Balance sheet are :

A. Money Received against share warrants
B. Long term borrowings

C. Authorized share capital

D. Trade payables

E. Profit for the current year

Choose the correct answer from the options given below :

LA B, Ix C.E

2

.C.D.B.A.E
3.C,CEEA.B.D
4. C.AB.D.E

Options :

6863407349. 1
6863407350. 2
6863407351. 3
6863407352. 4

Question Number : 38 Question Id : 6863401857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DU HfUEE, 2013, (ST L U -Ddh TR, o A 1 o SHeial (g=-1e) & gsddiesor

A YIY IRE & dqal U Bl Tl g
B. SUiai® IURT

c. 3 AR I

D. TTIR
E. 91 (@0 d ) 79 o ary
i faU 71U faedl § § 98l 3R &1 90+ Hiiulu:

1LABDNCE

| ]

.C.D.B.A.E
3.C,E.A.B.D
4 C,A.B.D.E

Options :

6863407349. 1
6863407350. 2
6863407351. 3
6863407352. 4

Question Number : 39 Question Id : 6863401858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Stock Exchange of India was established mn :

1. 1886

2

. 1902
3.1994

4. 1996

Options :

6863407353. 1
6863407354. 2
6863407355. 3
6863407356. 4

Question Number : 39 Question Id : 6863401858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad fod a¥ 7 YRd & AP Tie TagHsl &1 w9 5 T b
1. 1886
2. 1992
3.1994
4. 1996

Options :

6863407353. 1
6863407354. 2
6863407355. 3
6863407356. 4

Question Number : 40 Question Id : 6863401859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the five stages of the process of Recruitment in a sequence :

A. Strategy Development
B. Planning

C. Evaluation and Control
D. Screening

E. Searching

Choose the correct answer from the options given below :
1L.BAE D€
2ABECD
3 BACDE

4 A B.D.E.C

Options :

6863407357. 1
6863407358. 2
6863407359. 3
6863407360. 4

Question Number : 40 Question Id : 6863401859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(e @) ufhan & o ==ulf (@ed) & 9et HH J T |

A. Prfafy el famm
B. dieHl

C. Hedich ud Fgao

D. BFaE ST (Rep )
E. QIS (e

=i fau e f[daregl | ¥ Uel 3R &1 904 dIou;

1.B.AE. D.C

Z2:ABEC, D
3.B,A.C.D.E
4. A B.D.E.C

Options :

6863407357. 1
6863407358. 2
6863407359. 3
6863407360. 4

Question Number : 41 Question Id : 6863401860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A ok D I it;hances employee's interest in doing
B rak Resina I J_tgd variety and reduce boredom in

C. [Job Enlargement |IIT|Add variety and number of tasks.

o ek miskes o S}a\is high degree of control over the

Choose the correct answer from the options given below:
1. A-L. B-IL. C-III. D-IV
2. A-IV. B-III. C-II. D-I
3. A-I. B-II. C-IV. D-III
4. A-IL. B-1. C-III, D-IV
Options :
6863407361. 1

6863407362. 2
6863407363. 3



6863407364. 4

Question Number : 41 Question Id : 6863401860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

T I Tt 1T

D HYhed | [ [ B3 H dHdadl ®f ¥ § gig ear gl
B H@a- | I [@ J [Qiayd ardl & 3R $d &) dH ddl gl
@ faasd | 1L [fafaean iR @/l (0arEh & 99 @ deldl 6
®E YT | IV [P TR S9-%R @1 (100 ®1ud ddl g

frafatad foweat § I 98t SR &1 997 S«

1. A-I. B-II. C-III. D-IV

ofafw]>

|

. A-TV, B-III. C-I1. D-1
3. A-L. B-II, C-IV, D-III
4. A-I1. B-1. C-III, D-IV

Options :

6863407361. 1
6863407362. 2
6863407363. 3
6863407364. 4

Question Number : 42 Question Id : 6863401861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The style of leadership in which the leader allows substantial participation by members of the group in the
management and decision making processes 1s known as :

1. Auto cratic leader
2. Democratic leader
3. Laissez - faire leader
4. Paternalistic leader
Options :
6863407365. 1
6863407366. 2

6863407367. 3
6863407368. 4

Question Number : 42 Question Id : 6863401861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g B Bl dg Wil oy T HeeH SR Hulg= wicear & 9qg & 9el R 9g@yul Gg Uil &3
@i Al ST S

1. WHER] =l
2. iz Il
3. §EI&T Xfgd Adr
4. ForqErTaTet

Options :

6863407365. 1
6863407366. 2
6863407367. 3
6863407368. 4

Question Number : 43 Question Id : 6863401862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the correct sequence of applying statistical techniques ?

A. Classification and presentation of data

B. Measurement of dispersion and Skewness
C. Determination of statistical enquiry.

D. Measurement of correlation

E. Measurement of central Tendency

Choose the correct answer from the options given below :

1. AB.C,D.E

[ ]

.B,C.D.AE
3.CB EAD
4. C.AE.B.D

Options :

6863407369. 1
6863407370. 2
6863407371.3
6863407372. 4

Question Number : 43 Question Id : 6863401862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Yifegata Uil & SFvgad B & Uel 3HH HH-91 82
A, HHS! BT TSN 3R TR IEHR0T
B. Wb 101 (TRETN SR d9%g o1 A1Y
C. Fifeg®Tg Srae! YR
D. 98- §a4 DI 7Y
E. B4 Uqfi &f 71g
i fou 7Tt fawedl © § 9El STR &1 997 Fifult:

1LABCDE

-2

B, CDVAE
3.C.B.E.A.D
4 C,A.E.B.D

Options :

6863407369. 1
6863407370. 2
6863407371. 3
6863407372. 4

Question Number : 44 Question Id : 6863401863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the Arithmatic mean from the following data :

100
4

300
3

500
5

Wages (in Rs.)

200
| No of Workers ' ' '

3

400
E:

1.297.44

| ]

.294.74
3.254.74
4.264.94

Options :

6863407373. 1
6863407374. 2
6863407375.3
6863407376. 4

Question Number : 44 Question Id : 6863401863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafiRad siwsi 9 iU [@imds) 118 J1d DI

100
4

200
5

300
3

400
2

500
5

- Wages (in Rs.)
| No of Wor kers

1.297.44

[ ]
| ]
o
=
3

4.264.94

Options :

6863407373. 1
6863407374. 2
6863407375. 3
6863407376. 4

Question Number : 45 Question Id : 6863401864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(measures of Dispersion) (Formula)
A [Range L %}:(f: I N
B. Mean deviation I [Q3-Qy
C. |Standard Deviation I HV-5.V.
D. [Interquartile Range V. z“%

Choose the correct answer from the options given below:
1. A-II. B-1, C-III. D-IV
2. AL B-1V, C-I1, D-I
3. A-IILL B-IV. C-I. D-II
4. A-IV. B-1, C-II. D-III

Options :

6863407377. 1
6863407378. 2
6863407379. 3
6863407380. 4

Question Number : 45 Question Id : 6863401864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

I it
mﬂﬁﬂ?ﬁm a%
A [ (W) L Rxd? /N
B. [ faga+ I |Q3-Q
C. [aH® fddeH 1L [H.V-S.V.
D. [srRaqde WE () IV. E“‘-t%*,
fFrafeiad fasedl o 9 98l Gk &1 98- S -

1. A-I1. B-1. C-II1. D-IV
2. AL B-IV. C-I1, D-I
3. AL B-IV. C-1. D-1I
4. A-TV. B-1. C-I1. D-III

Options :

6863407377. 1

6863407378. 2

6863407379. 3
6863407380. 4

Question Number : 46 Question Id : 6863401865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The degree of correlation varies between :

1. +1 to -1

| B

. +0.75 to —0.75
3.+1.75t0-1.75
4. Infinitive Range

Options :

6863407381. 1
6863407382. 2
6863407383. 3
6863407384. 4

Question Number : 46 Question Id : 6863401865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tegay o v (3 fHgfeied g & ma yRafda sidi 2
1.+1¥ -1 d®
2.+0.75 ¥ —0.75 b
3.41.75¥ -1.75 9
4. 0T R (390)

Options :

6863407381. 1
6863407382. 2
6863407383. 3
6863407384. 4

Question Number : 47 Question Id : 6863401866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The Indirect taxes Basically imposed by the Government to control the consumption.
Reason R : The Burden of indirect taxes can be shifted.

In the light of the above statements. choose the most apprepriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[

.Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

6863407385. 1
6863407386. 2
6863407387. 3
6863407388. 4

Question Number : 47 Question Id : 6863401866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (U T §, Ud @Y (Assertion A) P o4 1 [l RET © Tl GIRT 3HP PRUI (Reason R)dh ¥U
T

YT A: TR GRT ST BRI B T STHI R =01 8¢ 11 o1 8

HRUIR: T TR B Sqdl (S13) B RFIQNR (B4 o Godl 6

SWRI DY & Tl 1, 1< 34U 7Y [deedi T 9 9ad Iugdd ¥ &1 99 Difoly
1. A SRR G 9T T SR R, A P gl o0 §

A SRR EH 9§ [qR. A DI 5! AR gl ¢

AT AGTR IR TSR

4, AR T8 ¢ AfBTR TE1 ©

Options :

6863407385. 1
6863407386. 2
6863407387. 3
6863407388. 4

[

L]

Question Number : 48 Question Id : 6863401867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Financial Commissions) {Chairman)

11 finance commission (2000-05)] L |C. Rangarajan
12™ finance commission (2005-10) IL |JA. M. Khusro
13™ finance commission (2010-15)| IL [Y'V. Reddy

14™ finance commission (2015-20) IV. [Vijay Kelkar

ofofw[w

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

[ ]

CA-L B-IIL C-III, D-IV
3. A-II1. B-1, C-I1. D-IV
4. A-IL. B-III. C-IV, D-I

Options :

6863407389. 1
6863407390. 2
6863407391. 3
6863407392. 4



Question Number : 48 Question Id : 6863401867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

1 T 1T
(ot smarm ]

11 9i T 3[R (2000-05) | L [ TRIH
12 4 fod 3T (2005-10) |1 [RoH.EER
13 1 fad 3T (2010-15)  [IIJars. &1 <5
14 9 fad 3M@RT (2015200 [IV|faorg theia

frafafad fawel 5 I 96t S| &1 994 DI -

1. A-II. B-1. C-IV, D-III

Ofo|w|*=

2. A1 B-II. C-II1. D-IV
3. AL B-1. C-IL. D-IV
4. A-IL. B-III. C-IV. D-I

Options :

6863407389. 1

6863407390. 2

6863407391. 3
6863407392. 4

Question Number : 49 Question Id : 6863401868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other i1s labelled as Reason R :

Assertion A : Mohit agrees to pay Nilesh ¥ 1000, in consideration Nilesh agrees to write for him 100 pages
within five minutes. This is not a valid contract.

Reason R : An agreement to do an act. impossible in itself. 1s void.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct
4. A is not correct but R is correct

Options :

6863407393. 1
6863407394. 2



6863407395. 3
6863407396. 4

Question Number : 49 Question Id : 6863401868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & YA AU U §, TP AU (Assertion A) P 30 T [ARET § o SIRT IHP HRUT (Reason R)& 3T
T

HftpeT A Oifgd 3, AW BT 1000 0T BT HAEA S WiHR fan, a3 39@ faw 100 ggi &1 i
fire # fora 39 o1 Wigpfa <t 08 U 9y 3y TR §

PROIR: Dl GH TR (TN o @31 90 & eriya ol ag aad gian gl
SWRIGI BYH & ATl H, A< 34U MU f[deedi ¥ I 9 Iuged Iax &1 98- Difelu
1. A 3R R I 961 § SRR, A P! Hel URAT &
2. A 3R R 3 U8 € fFg R, A 31 Wl oare el ©
3 AT R PR TR IS
4. AGE ST gAlPIR el ©
Options :
6863407393. 1
6863407394. 2

6863407395. 3
6863407396. 4

Question Number : 50 Question Id : 6863401869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : A agrees to sell land to B at a price to be fixed by C. C refuses to fix the price. The contract is
enforceable

Reason R : The contract can be enforceable and valid if there is certaiity in terms.

In the light of the above statements, choose the most apprepriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4, A is not correct but R is correct

Options :

6863407397. 1
6863407398. 2
6863407399. 3



6863407400. 4

Question Number : 50 Question Id : 6863401869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & Y (U U &, U SUHUA (Assertion A) & ¥ 1 [¢1Ed g dl THRT 3UD BRUI (Reason R) Y
i

iU A: A Tl il @1 fdfoh B ®1 ¢ GRT a0 (a1 S arell ®19d UR 99 &1 Wipld adl g IC SiHd
T B Y T B ¢l § | U8 Hga e Haa-1d g

BRI R: A1 Tl § (AIZTdr 81, a9 sfay Yad-1d ud de &1 9| 6|
SWRIG Y & el H, i fau U f[deedi § 9 9a8 Suged 3o &l 999 Hifiy

1. A SR R 3 961 € AR R, A D T8l RS §

A SRR Tl ¢ [BgR. A DI Hol AR T8l o
AT AGTR I AL

AFEI S S ARPIR TR ©

Options :

6863407397. 1
6863407398. 2
6863407399. 3
6863407400. 4

[ ]

Laa

s

Question Number : 51 Question Id : 6863401870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A contract by which one party promises to save the other from loss caused to him by the conduct
of the promisor himself or by the conduct of any other person. is called a contract of Guarantee.

Statement II : A contract to perform the promise. or discharge the liability of a third person in case of his
default is called a contract of Indemnity.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| ]

. Both statement I and Statement IT incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :
6863407401. 1



6863407402. 2
6863407403. 3
6863407404. 4

Question Number : 51 Question Id : 6863401870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%ra“lam?ﬁt{m%

BYA L. Pl 41 SFEY O U T8l THL U&f I ga-1a1d] W4 & AdeR (3TaR0N) H {ydT 34 fardt
o & TaER (STER0) I 34 §F ardll 811 ¥ 9911 &1 (d18) &l §. 79 98 RS dedni g

B 11: G99 BT (I (901 PR 3Ua] fbi TR ofd gR1 39 YA SHaraifl = & g &1 feudl
¥ Sran fae geelt sgy. afagfd (Rem) sFEY Heard g

SWRI DY & ATl 1, 1< 34U 7Y [deedi ¥ 9 9ad Iugdd ¥ &1 99 Difely
1. U1 AR I ST TR
2. HYA 1 AR 11 T T SR
3. BT TR 6. A S A §
4. PYA TR S ¢, AT P 1 T

Options :

6863407401. 1
6863407402. 2
6863407403. 3
6863407404. 4

Question Number : 52 Question Id : 6863401871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Bills of Exchange is a negotiable instrument.
Statement II : Promissory note is not a negotiable Instrument.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

|

. Both Statement I and Statement IT incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :



6863407405. 1
6863407406. 2
6863407407. 3
6863407408. 4

Question Number : 52 Question Id : 6863401871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

YA 1. faflvg o9 v e yuE glaT B

HUAII: GI-U7 Wb WA Tel gidl o |
SWRIG Y & 3Talie H, i fu U fdeedl § 9 968 Suged o &l 999 Hifu:

1. YT AR I S TeT B

2. YT AR 11 g1 F81 81 §

3. PYF 1 el 6. dlihd DY 11 7TAd &
4, BYT1TId 8, Wich B I Hel ©

Options :

6863407405. 1
6863407406. 2
6863407407. 3
6863407408. 4

Question Number : 53 Question Id : 6863401872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The technique in which only variable costs are taken into Account for the purpose of product costing.
inventory valuation and other allied important management decisions is known as :-

1. Absorption costing
2. Marginal costing
3. Standard costing
4., Job costing

Options :

6863407409. 1

6863407410. 2

6863407411. 3
6863407412. 4



Question Number : 53 Question Id : 6863401872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

de ufafy o Sarg @ Fuier & SEwg 8 o =R AHTd! BI &1 31 STl 8 | Ui e Jedich-
IR 30 T Heaqul e o 59 39 & &H1 o1 §

1. 3TEE @rTd- Fufon
2. Tieid arTa- e
3. O arTd- FrafRo
4. B ARTd- e

Options :

6863407409. 1

6863407410. 2

6863407411. 3
6863407412. 4

Question Number : 54 Question Id : 6863401873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : If the production volume in unit 1s 10.000 unit and total sales units are 5000. Selling price per
unit 12, variable cost per unit 6 and the fixed cost per year 1s T 40,000. In this case, the Absorption costing
shows more profit than variable costing.
Reason R : The variable costing considered full cost for product costing and Inventory valuations.

In the light of the above statements, choose the most apprepriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R 13 correct

Options :

6863407413. 1
6863407414. 2
6863407415. 3
6863407416. 4

Question Number : 54 Question Id : 6863401873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407413. 1
6863407414. 2
6863407415. 3
6863407416. 4

Question Number : 55 Question Id : 6863401874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AB Ltd uses the following standard mix for production of 'A’ goods. 50 kgs. of material X at standard
price .20, 20 kgs of material Y at standard price Z 40. The Actual mix was:

60 kgs of material X
10 kgs. of material Y

what will be material mix variance.

1. Z 100 (Unfavorable)

2

. £ 400 (Favorable)
3. 7 200 (Favorable)
4, 7 150 (Unfavorable)
Options :

6863407417. 1
6863407418. 2



6863407419. 3
6863407420. 4

Question Number : 55 Question Id : 6863401874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AB foifires Fafafaa Myl & vaim a5 A’ & 3ded 3 &l o | S 194, 20 $UT B &2 WX 50
kgs. X UTHUT | 40 TUU B GHS DIHd GR 20 fH.U1. v A dRdds WY S8 TR T -

60 T x qradl
10 fooum v 9t
a9 It fryor Ry fede s

ESVIECIRET)
2. T 400 (3P Q)
3.7 200 (3P Q)
4. % 150 (Hidpen

Options :

6863407417. 1
6863407418.2
6863407419. 3
6863407420. 4

—

Question Number : 56 Question Id : 6863401875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which type of costing technique is appropriate in the following situations :
When each work is Unique.
When each work is easily identifiable
when costs are assigned to. and Accumulated for each work.
1. Job costing
2. Process costing
3. Unit Costing
4. operating costing
Options :

6863407421. 1
6863407422. 2



6863407423. 3
6863407424. 4

Question Number : 56 Question Id : 6863401875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fraifea fufa & arma. RuRo i & o= -arweR. Ska e
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Options :

6863407421. 1
6863407422. 2
6863407423. 3
6863407424. 4

Question Number : 57 Question Id : 6863401876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The cost of second best alternative is known as :

1. Relevant cost

| )

. opportunity cost
3. Incremental cost
4. Responsibility cost

Options :

6863407425. 1
6863407426. 2
6863407427.3
6863407428. 4

Question Number : 57 Question Id : 6863401876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407425. 1
6863407426. 2
6863407427. 3
6863407428. 4

Question Number : 58 Question Id : 6863401877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : In case of fully — paid up share. the members can not be asked to contribute any further if the
company goes into liquidation.

Reason R : The liability of the members of a company 1s limited to the amount remaining unpaid on the shares
subscribed by them.

In the light of the above statements, choose the most apprepriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

6863407429. 1
6863407430. 2
6863407431. 3
6863407432. 4

Question Number : 58 Question Id : 6863401877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407429. 1
6863407430. 2
6863407431. 3
6863407432. 4

[ ]
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s

Question Number : 59 Question Id : 6863401878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 1s the fundamental document of the company containing the basic conditions on which the
company 1s incorporated.

1. Asticles of Association
2. Prospectus
3. Memorandum of Association
4. Registration Certificate
Options :
6863407433. 1
6863407434. 2

6863407435. 3
6863407436. 4

Question Number : 59 Question Id : 6863401878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
6863407433. 1
6863407434. 2

6863407435. 3
6863407436. 4

Question Number : 60 Question Id : 6863401879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s true for public and private company ?

1. Public company requires ¥ 1 lakh as minimum paid-up capital, while a private company requires 3 5

lakhs..

[ ]

. There must be at least three directors in public company, while the minimum number of directors in
private company must be two

3. A public company requires minimum two members while a private company requires seven members

4. There i1s maximum limit on number of members upto 200 in case of public company while there is no
maximum limit in case of 'private company’.

Options :

6863407437. 1
6863407438. 2
6863407439. 3
6863407440. 4

Question Number : 60 Question Id : 6863401879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407437. 1
6863407438. 2
6863407439. 3
6863407440. 4

Question Number : 61 Question Id : 6863401880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tests suggest the buyer being able to recognize an advertisement as belonging to a brand or a firm
and / or as one that he or she has seen earlier :

1. Recognition
2. Remembrance
3. Retention

4. Recall

Options :

6863407441. 1
6863407442. 2
6863407443. 3
6863407444. 4

Question Number : 61 Question Id : 6863401880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407441. 1
6863407442. 2
6863407443. 3
6863407444. 4

Question Number : 62 Question Id : 6863401881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The following are considered as Traditional media for advertising except :

1. Newspaper

2. Magazines

3. Radio

4. Mobile phones

Options :

6863407445. 1
6863407446. 2
6863407447. 3
6863407448. 4

Question Number : 62 Question Id : 6863401881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407445. 1
6863407446. 2
6863407447. 3
6863407448. 4

Question Number : 63 Question Id : 6863401882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : The 'doctrine of contribution' 1s not applicable to Marine Insurance.
Statement IT : The fire Insurance policy carries surrender value or paid up value.
In the light of the above statements. choose the most apprepriate answer from the options given below :
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

6863407449. 1
6863407450. 2
6863407451. 3
6863407452. 4

Question Number : 63 Question Id : 6863401882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407449. 1
6863407450. 2
6863407451. 3
6863407452. 4

Question Number : 64 Question Id : 6863401883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is false for linear programming problem (LLP) ?

1. A feasible solution is one which meets at least one of the constraints of the problem.

[ ]

. An optimal solution to a linear programming problem in a feasible solution which optimizes.
3. For a linear programming model. the feasible region may change if non-binding constraints are deleted.
4. For a linear programming problem to be unbounded its feasible region must be unbounded.

Options :

6863407453. 1
6863407454.2
6863407455. 3
6863407456. 4

Question Number : 64 Question Id : 6863401883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407453. 1
6863407454. 2
6863407455. 3
6863407456. 4

Question Number : 65 Question Id : 6863401884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7T 9 =2 1 0 5
If4= and B = then A+B=
20 3 6 3 2

P

1393'
14 3 5]

2 7 9 -10
-12 0 6

-1 9 12
9 3 u‘

442 18 —4
1=2 0 15

Options :

6863407457. 1
6863407458. 2
6863407459. 3
6863407460. 4

Question Number : 65 Question Id : 6863401884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407457. 1
6863407458. 2
6863407459. 3
6863407460. 4

Question Number : 66 Question Id : 6863401885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The compound interest on  16000/@20% p.a for 9 months. compounded quarterly 1s :

1. % 18522

| B

.2 16000

LIPS ]

. %9261
4. % 2522

Options :

6863407461. 1
6863407462. 2
6863407463. 3
6863407464. 4

Question Number : 66 Question Id : 6863401885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407461. 1
6863407462. 2
6863407463. 3
6863407464. 4

Question Number : 67 Question Id : 6863401886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The insurance business in India i1s governed by :

A. The Insurance Act. 1938

B. The Life Insurance Corporation Act. 1956

C. The Marine Insurance Act, 1963

D. The General insurance Business (Nationalization) Act, 1972
E. Insurance Regulatory and Development Authority Act, 1999

Choose the correct answer from the options given below :
1. A.B. and C Only
2. A, B, C and E Only
3.A.B.D. and E Only

4. A B.C.D and E Only

Options :

6863407465. 1
6863407466. 2
6863407467. 3
6863407468. 4

Question Number : 67 Question Id : 6863401886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407465. 1
6863407466. 2
6863407467. 3
6863407468. 4

Question Number : 68 Question Id : 6863401887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The life insurance that runs only for a limited period or upto a particular age not exceeding the age of 70 years
is known as :

1. Endowment Policy

[ ]

. limited payment life policy
3. Joint life policy
4. Anmuity policy

Options :

6863407469. 1
6863407470. 2
6863407471. 3
6863407472. 4

Question Number : 68 Question Id : 6863401887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407469. 1
6863407470. 2
6863407471.3
6863407472. 4
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Question Number : 69 Question Id : 6863401888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Ltd Co. Registered their Business in SEZ and start the manufacturing of hand made wooden articles. The
Business generated hand some profit. At the end of the financial year, They submitted ITR within the due date
and claiming deduction under section 80-IAB by submitting the relevant documents to the Tax Authority. The
Reduction of Tax liability in this way 1s known as :

1. Tax planning
2. Tax Avoidance
3. Tax Evasion
4. Tax Management
Options :
6863407473. 1
6863407474. 2

6863407475. 3
6863407476. 4

Question Number : 69 Question Id : 6863401888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407473. 1
6863407474. 2
6863407475. 3
6863407476. 4

Question Number : 70 Question Id : 6863401889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Alternative minimum tax (sec.11S JC) will be calculated on :

1. Total Income

[ ]

. Book Profits

L]

. Adjusted Total Income
4. Special Income other than Normal Business Income

Options :

6863407477. 1
6863407478. 2
6863407479. 3
6863407480. 4

Question Number : 70 Question Id : 6863401889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407477. 1
6863407478. 2
6863407479. 3
6863407480. 4

Question Number : 71 Question Id : 6863401890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per income Tax provision, ITR-6 will be applicable for :

| AT I R

b2

. Firm
3. Company
4. Association of person

Options :

6863407481. 1
6863407482. 2
6863407483. 3
6863407484. 4

Question Number : 71 Question Id : 6863401890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG DR SULY (W) HTHR. 3HTg el HR- 6 [FHilod g gq wdrsd i
1.TI TP
2. 5
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Options :
6863407481. 1



6863407482. 2
6863407483. 3
6863407484. 4

Question Number : 72 Question Id : 6863401891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For Assessment of firm and calculating tax liability the correct sequence of Income Tax provision will be :

A. Calculation of Income under various heads

B. Calculation of total income and tax lability

C. Adjustment of deduction from Gross total income
D. Define residential status of firm

E. Set-oft and carry - forward of losses

Choose the correct answer from the options given below :
1L.ADCEB
2.A,C;D,E.B
3.D,A,C,E,;B

4 D.C.A.B.E

Options :

6863407485. 1
6863407486. 2
6863407487. 3
6863407488. 4

Question Number : 72 Question Id : 6863401891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e fau 7Y fawedt # 9 Tel 3R o1 90 Sifie:

1LADCEB

[

A.C.D.E.B
3 DACERB
4.1, C,ABE

Options :

6863407485. 1

6863407486. 2

6863407487. 3
6863407488. 4

Question Number : 73 Question Id : 6863401892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An audit which 1s authorized. governed and made compulsory under any statue 1s called :

1. Govermment Audit

b2

. Statutory Audit
3. Tax Audit

4. Detailed Audit

Options :

6863407489. 1
6863407490. 2
6863407491. 3
6863407492. 4

Question Number : 73 Question Id : 6863401892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PSR gRT foeu 0 gt oog ud wiftrat &1 idat 3R WReR] 3EH g1 waitd fau e aiftifsus @
BT SPET Y T T ST Il &

1. TRBRI HBET
2. gifafdes sidsemn
3. P AP
4. TOEIR 3ideem
Options :
6863407489. 1
6863407490. 2

6863407491. 3
6863407492. 4

Question Number : 74 Question Id : 6863401893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I : Vouching 1s a process of substantiating the occurrence of the transactions recorded in the books
of accounts with reference to relevant documentary evidence.

Statement IT : Verification is a process of substantiating existence of assets and liabilities with reference not
only to relevant documentary evidence but it also includes forming an expert opinion on different aspects.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct

[ )

.Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement IT is correct

Options :

6863407493. 1
6863407494. 2
6863407495. 3
6863407496. 4

Question Number : 74 Question Id : 6863401893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407493. 1
6863407494. 2
6863407495. 3
6863407496. 4

Question Number : 75 Question Id : 6863401894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cost audit 1s important for management because :

A. Cost audit helps in determination and allocation of cost of product.

B. It helps to identify wastage. inconsistency and irregularity in production.
C. It helps in proper valuation of inventory.

D. It facilitates settlement of industrial disputes.

E. It serves as a basis to charge tax on the cost of finished goods.

choose the most appropriate answer from the options given below :
1. A, C and E Ounly
2. A . Band C Only
3.B. Cand D Only

4. A and E Only

Options :
6863407497. 1
6863407498. 2



6863407499. 3
6863407500. 4

Question Number : 75 Question Id : 6863401894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CARTA 3{b&{U1, Hae §q SMaRa oidl ¢ RiTh

A T8 9% (318) B AFTd o (H4R01 Ud 3Hige- & 9 gidl ol

B. U8 JdIe H 3gey Rfa Sk sifafiad &1 ggam- € 9gda sidi o

C. U8 |I® & 3iad (31) Hediod § Jed® oidl &
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E. 7% URSPd (TH1) 9531 B aRld U B I (FHIRA B3) 5 YR & 39 4 S Sl ¢

i fu 0 f[daredl | U Uel 3R &1 904 diu;
1. Had A. C 3R E
2.%ad A, B3R C
3.%ad B.C 3RD
4.%ad ASIRE

Options :

6863407497. 1
6863407498. 2
6863407499. 3
6863407500. 4

Question Number : 76 Question Id : 6863401895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On the basic of specific objective, the various types of audit are :

A. Internal Audit
B. Cost Audit
C. Management Audit
D. Tax Audit
E. Secretarial Audit
Choose the correct answer from the options given below :
1. A. B and C Only
2. A.B. Cand D Only
3. A Band E Ounly

4. A B.C.DandE



Options :

6863407501. 1
6863407502. 2
6863407503. 3
6863407504. 4

Question Number : 76 Question Id : 6863401895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafary Fexgl & YR IR s & iy PR &

A R® Sidrem
B. GFTd Sdbeful

C. JaY 3jhem

D. B 3h &0

E. Giaradt i

i f4U 77U fawedl § 9 el SR &1 99+ Hifulu:
1.%ad A.B 3R C
2.%ad A.B.C3RD
3.%ad A B HRE

4.A.B.C.DS3IRE

Options :

6863407501. 1
6863407502. 2
6863407503. 3
6863407504. 4

Question Number : 77 Question Id : 6863401896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per the Government definition of BIMARU. the following states are treated as BIMARU :

A. Madhya Pradesh.
B. Uttarakhand

C. Rajasthan

D. Uttar Pradesh

E. Andhra Pradesh

Choose the correct answer from the options given below :
1. C.D and E Only
2. A CandD Only
3.A.Band D Only

4. A.D and E Only

Options :

6863407505. 1
6863407506. 2
6863407507. 3
6863407508. 4

Question Number : 77 Question Id : 6863401896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i fau 0 f[daredl | U Uel 3R &1 904 Big;
1.C.D 3R E &ad
2.%ad A.C 3RD
3.%dd A. B 3RD
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Options :

6863407505. 1
6863407506. 2
6863407507. 3
6863407508. 4



Question Number : 78 Question Id : 6863401897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The capital Market in India does not include :

1. Financial Intecmediaries
2. Development Finanecial Institutions
3. Bill Market
4. Industrial securities Market

Options :

68634075009. 1

6863407510. 2

6863407511. 3
6863407512. 4

Question Number : 78 Question Id : 6863401897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR & Ioft a9 F T gt 8
1. fafrefta gemaftmt
2. faerg faiig TwuH
3. diie fae 9o
4. TR Ffayfa aeR
Options :
6863407509 1
6863407510. 2

6863407511. 3
6863407512. 4

Question Number : 79 Question Id : 6863401898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a tangible customer value ?

1. Experience value

[ ]

. Functional value

L]

. Economic value

4. Convenience value

Options :

6863407513. 1
6863407514.2
6863407515. 3
6863407516. 4

Question Number : 79 Question Id : 6863401898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Fafeiad § ¥ gd ue® I el o2
1. 34T 7
VeHiES g7

e g
 gfeuTqed

Options :

6863407513. 1
6863407514. 2
6863407515. 3
6863407516. 4

| ]

¥

e

Question Number : 80 Question Id : 6863401899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the steps involved in product life cycle in correct sequence :

A Introduction

B. Growth

C. optimum sales Realization
D. Maturity

E. Decline

Choose the correct answer from the options given below :
1.B.C. D, E. A
2AC.B.DE
33JAABDCE
4 A B.C.DE

Options :

6863407517. 1
6863407518. 2
6863407519. 3
6863407520. 4

Question Number : 80 Question Id : 6863401899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IdIE Siig g% & IAd TR & el 0 &
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1.B.C.D.E A

| ]

ACB.DLE
33JAB.D.C.E
4. A B,CILE

Options :

6863407517. 1
6863407518. 2
6863407519. 3
6863407520. 4



Question Number : 81 Question Id : 6863401900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pricing strategy that seeks to exploits economics of scale by pricing the product below the competitor's in
one market and adopting a penetration strategy in another 1s called :

1. penetration pricing strategy
2. Differential pricing strategy
3. Product line pricing strategy
4. Geographic pricing strategy

Options :

6863407521. 1

6863407522. 2

6863407523. 3
6863407524. 4

Question Number : 81 Question Id : 6863401900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407521. 1
6863407522. 2
6863407523. 3
6863407524. 4

Question Number : 82 Question Id : 6863401901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



18 a function of the costumer's perception. his / her attitude towards it, and the economic value or
price that the customer attaches to the brand :

1. Brand Equity
2. Brand Awareness
3. Brand Value

4. Brand Association

Options :

6863407525. 1
6863407526. 2
6863407527. 3
6863407528. 4

Question Number : 82 Question Id : 6863401901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407525. 1
6863407526. 2
6863407527. 3
6863407528. 4
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Question Number : 83 Question Id : 6863401902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The measure of total market value of all final goods and services produced in the domestic economy during a
period of one year plus in come earned by the foreigners in the country minus income earned by countrymen
trom abroad 1s called :

1. Gross Domestic product

b2

. Gross National Produet
3. Net Domestic Product
4. Net National Produet

Options :

6863407529. 1

6863407530. 2

6863407531. 3
6863407532. 4

Question Number : 83 Question Id : 6863401902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407529. 1
6863407530. 2
6863407531. 3
6863407532. 4

Question Number : 84 Question Id : 6863401903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Inflation occurs when the aggregate demand increases at a much higher rate than the aggregate supply is
called :

1. Demand pull inflation.
2. Demand push inflation.
3. Cost pull inflation

4. Cost push mnflation.

Options :

6863407533. 1
6863407534.2
6863407535. 3
6863407536. 4

Question Number : 84 Question Id : 6863401903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407533. 1
6863407534.2
6863407535. 3
6863407536. 4

Question Number : 85 Question Id : 6863401904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The LM curve 1s a locus of points showing equilibrium points of the money market at different levels of :

A, Inferest

B. Supply of money
C. Income

D. Consumption

E. Demand for money

Choose the correct answer from the options given below :
1. A, C and E Ounly
2. A . Band C Only
3.B. Cand D Only

4. A B and E Only

Options :

6863407537. 1
6863407538. 2
6863407539. 3
6863407540. 4

Question Number : 85 Question Id : 6863401904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A. C 3R E &ad
2. FAAA. B IHR C
3. $ad B. C 3D

4. BdAA.BARE

Options :

6863407537. 1
6863407538. 2
6863407539. 3
6863407540. 4



Question Number : 86 Question Id : 6863401905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the central Govt. Budget, which one 1s treated as the capital receipt :

1. Taxes on property and capitals
2. Taxes on commodity and services
3. Interest receipts and dividend
4. Net market borrowings

Options :

6863407541. 1

6863407542. 2

6863407543. 3
6863407544. 4

Question Number : 86 Question Id : 6863401905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407541. 1
6863407542. 2
6863407543. 3
6863407544. 4

Question Number : 87 Question Id : 6863401906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GATT was replaced by WTO on :

1. 15 January 1991

| B

. 15 January 1992

L¥%]

. 15" January 1995

4. 1% January 1996

Options :

6863407545. 1
6863407546. 2
6863407547. 3
6863407548. 4

Question Number : 87 Question Id : 6863401906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5o 1 ol GRIIC(GATT) i farsy o Hicruifi fepa 7 o7 -
1. 150 SFTaR] 1991
15t SIaRt 1992
3. 15V GIaRl 1995
4. 15V GFART 1996

Options :

6863407545. 1
6863407546. 2
6863407547. 3
6863407548. 4

|

Question Number : 88 Question Id : 6863401907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TRIMs Stands for :

1. Trade Related investment Measures

| )

. Technology Related investment measures
3. Trade Related intelligence model
4. Technology Related intelligence model

Options :



6863407549. 1
6863407550. 2
6863407551. 3
6863407552. 4

Question Number : 88 Question Id : 6863401907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407549. 1
6863407550. 2
6863407551. 3
6863407552. 4

Question Number : 89 Question Id : 6863401908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Foreign Exchange Management Act come into existence on :

1. 15 January 1991

b2

. 1% January 1992

Laa

. 15! January 1996
4. 1% January 2000

Options :

6863407553. 1
6863407554. 2
6863407555. 3
6863407556. 4

Question Number : 89 Question Id : 6863401908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fadw fafog ueys sief-ag (an e i § amar 2
1. 15t STa3t 1991
15t AT 1992
3. 15 SFaR] 1996
4. 15U SaRT 2000
Options :
6863407553. 1
6863407554. 2

6863407555. 3
6863407556. 4

| ]

Question Number : 90 Question Id : 6863401909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Gross Domestic Product (GDP) may be defined as :

1. Market value of final goods and services produced in the economy plus income earned locally by the
foreigners minus income earned aboard by the Nationals

2. The value of all final Goods and services produced during specific period plus income earned abroad by
the nationals minus incomes earned locally by the foreigners.

3. Gross National product minus depreciation.
4. Net domestic product plus depreciation.

Options :

6863407557. 1
6863407558. 2
6863407559. 3
6863407560. 4

Question Number : 90 Question Id : 6863401909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863407557. 1
6863407558. 2
6863407559. 3
6863407560. 4

Question Number : 91 Question Id : 6863401910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is quantitative model of time series analysis for business forecasting.

1. Sales force composite method

| B

. Delphi method

LF¥]

. Expert opinion method
4. Exponential smoothing method

Options :

6863407561. 1
6863407562. 2
6863407563. 3
6863407564. 4

Question Number : 91 Question Id : 6863401910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. Sl fafe
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Options :

6863407561. 1
6863407562. 2
6863407563. 3
6863407564. 4

Question Number : 92 Question Id : 6863401911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Government appointed an Inter ministerial - Task force on Agricultural marketing reforms. The
Recommendation of the committee (2002) are :

A. Exemption of Agricultural Income from taxation.

B. Introduction of priority Loan to be sanctioned to the farmers.

C. Promotion of direct marketing and contract farming.

D. Development of Agricultural markets in private and co-operative sectors.
E. Expansion of future trading to cover all agriculture markets.

Choose the correct answer from the options given below :
1. A, B and C Only
2.B. Cand D Only
3.C.D and E Only

4.B. C and D Only

Options :

6863407565. 1
6863407566. 2
6863407567. 3
6863407568. 4

Question Number : 92 Question Id : 6863401911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 93 Question Id : 6863401912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : J-I-T is an inventory management Technique in which the carrying cost of Goods 18 minimum.
Reason R : J-I-T is the cost control technique in which no need to store the stock of Goods.

In the light of the above statements. choose the mosr appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A
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. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

6863407569. 1
6863407570. 2
6863407571. 3
6863407572. 4

Question Number : 93 Question Id : 6863401912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 94 Question Id : 6863401913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Non-Performing Assets (NPAS) of Banking organization includes advances whose interest or principal
amount remain overdue for a period of :

1. 60 days
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. 90 days
3. 120 days
4. 180 days

Options :
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Question Number : 94 Question Id : 6863401913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 95 Question Id : 6863401914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The tax Rates in India 1s fixed by :
1. Annual finance Act
2. Annual Budget of central Government
3. The respective Act of Tax Laws
4. Special Resolution of legislative Assembly
Options :
6863407577. 1
6863407578. 2

6863407579. 3
6863407580. 4

Question Number : 95 Question Id : 6863401914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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6863407578. 2
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Question Number : 96 Question Id : 6863401915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in the sequence of their happening from oldest event to latest event :

A Nifty came into existence

B. Securities and Exchange Board was set up.

C. Harshad Mehta security scam came into news.
D. NSDL was created

E. SEBI banned badla trading on BSE

Choose the correct answer from the options given below :
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.B.C.E.A.D
3.C8B,A,D.E
4.D.E.A.B.C

Options :

6863407581. 1
6863407582. 2
6863407583. 3
6863407584. 4

Question Number : 96 Question Id : 6863401915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 97 Question Id : 6863401916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(development Bank) (Year of Establishment)
A |Industrial Finance Corporation of India (TFCT) I |1982
B. [NABARD II. |1997
C. [LIC IIT. 1948
D |[IDEC IV [1956

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-III
2. A-IV, B-1II, C-I, D-II
3. A-L. B-III. C-II. D-IV
4. A-I1, B-1, C-IV. D-II

Options :

6863407585. 1

6863407586. 2

6863407587. 3
6863407588. 4



Question Number : 97 Question Id : 6863401916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I, B-IL, C-IV, D-III
2. A-IV. B-III. C-1, D-II
3. AL, B-II1. C-IL. D-IV
4. A-III, B-1, C-IV, D-II

Options :

6863407585. 1

6863407586. 2

6863407587. 3
6863407588. 4

Question Number : 98 Question Id : 6863401917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Commercial paper is an unsecured short term promissory note. negotiable and transferable by
endorsement and delivery with a fixed maturity period.

Statement IT : commercial Bills are short -term negotiable and self liquidating instrument with low risk.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct

| )

. Both Statement I and Statement IT incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

6863407589. 1
6863407590. 2
6863407591. 3



6863407592. 4

Question Number : 98 Question Id : 6863401917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

YL aﬁw@aﬁww SRERIE @1 SMafere HiieeR e wepma 3R ot frow afvamar srafyr ard
UNi IR 3TYfd GRT g&=<a=uld gidl g |

HYA I1: NI fde S WIRGH 1dl oY STafde URIer SR W-yRaHguiiy Yo gid ©
SWRIE Y & 3rclie H, i fAu U fdeedl § 9 968 Suged o &l 999 SifL:

1. YT AR 1 ST FeT B

YA 1 3R 11 ST 1 TRl §
Y1 el B, Afhd HU 11 TAd §
4. BYF 17Ted &, A Y11 98l &

[ ]

Lad

Options :
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6863407590. 2
6863407591. 3
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Question Number : 99 Question Id : 6863401918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
R La_pla_ce I ‘\'ie“_' p_oin‘r falls between extreme
"7 Principle " lpessimism and extreme optimism.
B Sa?.'age I Uncertain about events then treat
" Principle " them equally probahble.
C Ht_lmj'.tz 1 Choosing Th? best option from set
" lprinciple " |of worst options.
D Mg:-:i;nin v Se_le_cti;&g course of_ action that
" Jprineiple " fminimizes the maximum regret.

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

[ ]

. A-ILL B-1, C-IV. D-IT1
3. A-IL. B-IV, C-1, D-III
4. A-IV, B-1II. C-II. D-1

Options :

6863407593. 1
6863407594. 2
6863407595. 3
6863407596. 4

Question Number : 99 Question Id : 6863401918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A-ILL B-1. C-IV, D-III
3. A-IL B-IV, C-1. D-III
4. A-IV. B-11I. C-I1, D-I

Options :

6863407593. 1

6863407594. 2
6863407595. 3
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Question Number : 100 Question Id : 6863401919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
) Transportation time is involved
A |Buffer inventory | T | s
- in transferring the resources.
B Anticipation 11 Works as shock absorber in case
" |Inventory " |of contingency.
Decoupling Held according to anticipation of]
C. = IIT. =
Inventory future demand
firvement Protection against the
13 i IV, Juncertainties of demand and
Inventory
: supply

Choose the correct answer from the options given below:

1. A-IV. B-I1, C-III. D-I
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A-IV, B-III, C-II, D-1
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CA-L B-IIL. C-I1, D-IV
4. A-1. B-I1, C-III. D-IV

Options :

6863407597. 1
6863407598. 2
6863407599. 3
6863407600. 4

Question Number : 100 Question Id : 6863401919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. A-IV, B-IIL. C-I1, D-I
3. A-1. B-III, C-II. D-IV
4. A-1. B-I1. C-III, D-IV

Options :

6863407597. 1
6863407598. 2
6863407599. 3
6863407600. 4



